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Computerized Calculation of Automobile Engine

Power Calibration Coefficient
Wang Zhupeng

(Rcsearch Institute of Highway the Ninistr) or communications, Beijing

Abstract In this paper,a computer program is presented for the calculation of au-
tomobile engine power calibration coefficient referred to conventional calibrating
formulae and that of saturated steam evaporation pressure. The computer programs
are written in BASIC Language,which makes it possible to quickly get calculation
results by inputting necessary data.
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REMPDBLERHN, AMUBEHEEASTESE P . EWEFEH ML
T Fa  BAEMYIERERMEA"RUBSEE WAESTESE P, HXM RN ERE
PIRAERKS“HESEH fRAEX, 8B 5. H, B4 EFAERN "R ERBEEHEH
fu AR R fo M fo HX N ARHER S “BIE R R, 3R K BT R & 56 w4l
TEBLIERYE. :

EIFHERERLT R . ARAEERFEOTHAER LR IELSFRE. EFX,
HEARNOEARYEE, —-MEARNEEAREMEAHN LR, ABERARBYEE.®
FEARRAG TSR, L T PESRIRE THHEME. RAMRAK T RRBET, HLH6E
AAFENHERINDERERN  EREHBMKESS EANEREE THRMERSES T
. ABSUERIEX AT RS KR SV MRSV REIE R B EFH
BFEREA.

2 RBRBDINERERBITNIEF

’
TO % % % % % % % % % % % % % % % % % ¥ ¥ ¥ K K ¥ % X K K X K X ¥

20 KMEIVHIERERMHHBF *
Ik E E E R EE R R I I I R R R R R
40 PRINT” » » HHNBMANNIERERT  » »
50 INPUT"S§ A FERIBEE tw(C)=";TW
60 INPUT" Sy AR IR EE tw' (C)=";TW1
70 INPUT"SSAHFSEE t (C)=";T
80 INPUT"HAHSBEP (kPa)=";P
90 T1=273. 16
100 T2=273.154+TW1
110 T 1=10.79574 % (1 —T1/T2)
120 [ 2=—5.028 * LOG(T2/T1)/LOG(10)
130 13=1.50475% 10" (—4) » (1—10" (—8.2969* (T2/T1—1)))
140 I 4=0.42873% 10" (—3) % (10~ (4.76955% (1—T1/T2))—1)
150 I 5=0.78614
160 I=(I1+ 124+ I3+ 14+15)—1
170 EW1=10"1 '
180 PW=EW1—0. 0662 x (TW—TWI1)
190 PS=P—PW
200 KA=(99/PS) "~ 1.2 % ((273+T)/298)" 0.6
210 PRINT” S A B3R "
220 PRINT”tw(C)="TW
230 PRINT"tw/ ('C)="TW1
240 PRINT”t (C)="T
250 PRINT”P(kPa)="P
260 PRINT” 3+ 31 5018 .”
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270 PRINT USING”Ey/(kPa)=# # # #. # # #" ,EW]
280 PRINT USING"Py(kPa)=# # & #. # #";PW

290 PRINT USING"P(kPa)=1t # # #. # #" ,PS

300 PRINT USING"Ka =HHHY. HER";KA
310 INPUT"RETEHI(:y F:n)";X¥

320 IF X¥ ="n"GOTO 430

330 LPRINT”§ A 348 .”

340 LPRINT "t/ (C)="TW

350 LPRINT "t/ (C)="TW1

360 LPRINT”t ('C)="T

370 LPRINT’P (kPa)="P

380 LPRINT " i+ 3L 3038 .”

390 LPRINT USING"Ey/(kPa)=# # # #. # # #” ,EW]
400 LPRINT USING"Py(kPa)=# # # #. # #" ;PW
410 LPRINT USING"Ps(kPa)=H# # #. # #";PS
420 LPRINT USING"Ka =H H# # #. # # #”;KA

430 END

3 KRN HERERMITNIEF

10'********************************
20" = LMA DV ERERBGTHRERF *
B0 % % % % % % % %X % % X K K X K K K K K K K K K K K K K X X K X X
40 PRINT” » » MRV HERLERK * »

50 INPUT" i A FRREE tw(CI=";TW

60 INPUT" i AR tw' (C)=";TW1

70 INPUT"f A#HSBE ¢ (C)=";T

80 INPUT" i AiES S HE P (kPa)=";P

90 INPUT"§§ N IREHEFEHR Gt (kg /h)=";GF

100 INPUT"S AR EIHHER vhL)=";VH

110 INPUT i AR EIWLFEE n(r/min)=";N

120 INPUT" REIWL R (R4 Z0i.2)"c¥

130 INPUT"I$ 7 sCCHE S s .f DL HE .) IRFIBIE.w)";Z ¥

140 T1=273. 16 :

150 T2=273. 15+ TW1

160 I 1=10.79574» (1—T1/T2)

170 1 2=—5.028 x LOG(T2/T1)/LOG(10)

180 I 3=1.50475%10" (—4) * (1—10" (—8.2969 » (T2/T1—1)))

190 1 4=0.42873 %107 (—3) * (10~ (4.76955» (1—T1/T2))—1)

200 I 5=0.78614 |
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210 I =(Ii4+ 124+ 13+144+15)—1

T 220 EW1=10" I

230 PW=EW1—0. 0662 % (TW—TW1)

240 PS=P—PW

250 IF Z¥ ="W"GOTO 320

260 FA =99/Ps » ((273+T)/298)" 0.7

270 IF Z¥ ="{”GOTO 300

280 R=1

290 GOTO 360 ,

300 INPUT "SR RSB O KR r=";R
310 GOTO 360

320 INPUT "Sg AR ERHESN# O ES Pi(kPa)=";PI
330 INPUT "\ R4 FE 30 ESHLE 0 ) Po(kPa)=";PO
340 FA=(99/PS) ~ 0.7 » ((2734+T)>/298) " 1.5

350 R=PO/PI

360 IF C¥ ="2" GOTO 390

370 Q=33333 » GF/(VH *N)

380 GOTO 400

390 Q =16667 » GF/(VH » N)

400 FM =0. 036 * (Q/R)—1. 14

410 IF (Q/R)<C40 THEN FM =0. 3

420 IF (Q/R)>65 THEN FM=1. 2

430 KD=FA ~ FM

440 PRINT " $§ A S04 .

450 PRINT"tw('C)="TW

460 PRINT”ty/ (‘C)="TW1

470 PRINT"t (C)="T

480 PRINT P (kPa)="P

490 PRINT "Gf (kg/h)="GF

500 PRINT "Vh (L ) ="VH

510 PRINT ”n (r/min)="N

520 IF Z¥ ="¢" GOTO 580

530 IFZ¥ ="j” GOTO 570

540 PRINT ”Pi (kPa)="PI

550 PRINT "Po (kPa)="PO

560 GOTO 580

570 PRINT "r="*;R

580 PRINT "HHHHUE."

590 PRINT USING "Ey’ (kPa)=H#H## &, # # #";EW]
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600 PRINT USING "Py(kPa)=# # # #. # #" ;PW

610 PRINT USING "P,(kPa)=# # # #. &% #",;PS .
620 PRINT USING "fa =H# # # #. # # #",FA

630 IF Z¥ ="j* GOTO 650

640 PRINT USING "r=### #.# #”,R

650 PRINT USING "q(mg/L.cyc)=H# & & #. # #";Q
660 PRINT USING "f,, =HEBH HHVFM
670 PRINT USING "Kd =H###L. ## 7" KD
680 INPUT "RETEH (R:y F:n)";X¥

690 IF X ¥ ="n” GOTO 940

700 LPRINT "y A SiE.”

710 LPRINT "ty('C) ="TW

720 LPRINT "ty’ ('C) ="TWI

730 LPRINT "t ('C) ="T

740 LPRINT "P (kPa) ="P

750 LPRINT "Gf (kg/h)="GF

760 LPRINT "Vh (L )="VH

770 LPRINT ”n (r/min)="N

780 IF Z¥ =" GOTO 840

790 IF Z¥ ="j” GOTO 830

800 LPRINT "Pi (kPa)="PI

810 LPRINT "Po (kPa)="PO

820 GOTO 840

830 LPRINT "r=";R

840 LPRINT "3 ¥04E.”

850 LPRINT USING "Ey” (kPa)=# # # #. # # #7 EWI]
860 LPRINT USING "Py(kPa)=# # # #. # #" ;,PW

870 LPRINT USING "Ps (kPa)=# # # #. # #",PS

880 LPRINT USING "fa =H# # # #. # # #",FA

890 IF Z¥ ="j* GOTO 910

900 LPRINT USING "r =H# # # #. # #";R

910 LPRINT USING "q(mk/L.cyc)=# # # #. ##",Q
920 LPRINT USING "fm =# # # #. # #7,FM

930 LPRINT USING "Kd =# # # #. # # #7,KD

940 END
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AW, RIEREEATE, FR LD EFHBALARAT R RIRE. mRERETH, W&

BT EEEE Y.

MR IB3743— B4“ME R BHYLIE MBI Ir 3" EV R, X o/7 {H/MT 40 mg/L.cyc i}, B

FHE S fa=0.3; % o/r HKTF 65 mg/L.cyc B, BFUE B2 fa=1.2,
LR R ShOLR SR R S midl o 8, B2 1T B W LA B JRITE A T &R

OERM AR IV .
WARIE.
tw(C ) =28
t.” ('C )=22
t (C) =25
P(kPa) =99.7

@ LM R L .
PN &
.(C) =28
t.' (C)=22
t (C) =25
P (kPa) =99.7 -
Gf (kg/h3=28
Vh (L) =12
n (r/min)=1800

5 MIRRAK

5.1 K3 MR EREGHHEAR:
M. ., =K, Me

R
E.' (kPa) =2.643
P.(kPa) =2.25

P,(kPa) =87.45
Ka =1.019
IR -

Ew” (kPa) =2.643
Pw (kPa) =2.25

Ps (kPa) =97.45
fa =1.016
T =1.00
q(mk /L. cyc)x=43. 21
fm =0. 42
Kd =1. 007

WHERE RS R Fii#%

N.,=K,* Ne

iz, (T e
A'_(P,) (298)

# K & & MR
HABE 298K
#RTERE 99k F'a
KESIE 1xPa
HREE 100kPa

273+¢

s
298 )

=t

P,=P—Pw

At

M.,— BRIEFRHE (N - m);
M —LWAEHHE N -m);
No— RIEFBNE kW); -
N —ZWHEHHE kW),
K,— WMV ERY
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P,— K TFZERHE (kPa);
T —#HSBE K); |
t—HKBE (C);
P— R B E (kPa);
Pw— K&K E (kPa).
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5.2 SMERBNHELERBHPLN:

M,o,=K,* M,
N.=K;°* N,
Ka=f£'
oo
M,— BEARHE (N +m)
M,— EWAHHHEE (N +m)
N BIEFRHNE W)

N —EWHERHE W)
Ko — SR IEERH
f—#KEK

fa— SRR IR
5.21 EMERVMEEXLIEIK:

=99 (T yos
f‘-Ps (298)

203+t
798

=—o(

p,—#SFZESE (kPa)
T—BSBE (K)

(— #HSEE (C)
P—HSBE (kPa)
Pw— KES S E (kPa)

5.2.2 REMEAH#THEK:

= Byor, (T s
'f'_(P,) (298)

2734t
298

5.2.3 SEmyUREN K.
fu=0.036 —‘:-—1. 14

=(I9’_9)0.7 - ( )1.5

Af
g— WEAEA MR (mg/L - cyc)

IO R L - = 33333 2
H*R

RERDV BB ERKY T — ERM

= ERSENLg =16667 L

A
G, REHHFAR (kg/h)

Vei— RSPLHEER L)
n—— R HYLEERE (r/min)
r—REMERENL.
RRMER =7
A .
P— BRRHESMNESNEREND
(kPa)
P—RAENEBNESIHFOESD
(kPa)
FEREXr=1
5.3 KESSENEREBETH
RHMESETEARX:
Pw=Ew-0. 0662ty —tw)
A

Pw— K &S E(kPa);
Ev —BRBETHHRARSE
(kPa);
tw—— TERBECC);
tw— BRBECC),

T1
LgEw ={10.79574(1~13)

T2
—5. 02800Lg (77

+1. 50475X 10—4[ 1 — 10— 269r2/m1-1]
40. 42873 X 10-3[ 104 769550-T1/7> _ 1]
+0.78614} —1
pon o
T1I—AH=HABREK),
T1=273.16

T2=273. 15+tw
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